Gl

G2

8
b
4
2 T2
5 5 4 o 54 6 4 ) L
=2 1.2
-4 14
-6 1.5
- 1.3
v algebrahelp.com | vy algebrahelp.com
G3 G4
8 138
B T8
4 4
2 T2
A T S A R R
-2 T -2
-4 T4
-6 1 -k
] T -8
wrwy. algebrahelp.com 1 wyry algebrahelp.com
G5 G6
3 T8
6 T6
4 T4
2 1
NIV i 6 8 5 b 4 o S 4 b @
1 -2
T -4
-6 1 -5
-8 T -8
vany algebrahelp.com wawat algebrahelp.com
G7 G8
] T8
6 TH
4 T4
2 T2
B 5 4 Poe 5% 4 - A A
1 -2

vy algebrahelp.com

v algebrahelp.com




G9

G10

T8
TG
Fd
2
8 5 4 -2 4 5 8 M 2 4 & 3
1 -4 -
1.6 -
1.5 -
1 woyy algebrahelp.com | w3 gebrahelp.com
1s rB
1 r
T4
1 e
& 6 4 HE I & 6 4 HEE I
1.2 =2
1.4 o4
T-6 b6
1.5 -}
1 woyy algebrahelp.com L v algebrahelp.com

G13

G14

G15

G16




